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Choose the correct form of verb to fill in the blank.

Knowledge 1s that we can not know.
(1) known

(2) without know

(3) knowing

(4) know

fFrafafad § S $H-a1 e e T8l 8 0
(1) &

(2) 9

3) &

(4) @

1[Option ID=6601]
2[Option ID=6602]
3[Option ID=6603]
4[Option ID=6604]

Sl. No.2
QBID:1554922

Choose the correct pair of prepositions, in the correct sequence. from among the
four options given, to fill m the blanks i the following sentence :

The book was lying the table and the papers were that.
(1) m; under

(2) besides; underneath

(3) above: over

(4) under: underneath

o=t # gt fope W § 2

(1) 9

(2) 11

(3) 12

(4) 13

1[Option ID=6645]
2[Option ID=6646]




3[Option ID=6647]
4[Option ID=6648]

Sl. No.3
QBID:1554923

Pick out the correctly spelt word.

(1) assiduous

(2) asiduous

(3) assidous

(4) assedious

AR (3) F e # - 9w emE ® 2
(1) 9% I=RU H W &1 Mawasdl gl & |
(2) TR H W@ ggd Al ¢ |

(3) TR $I T W H $1 0§ |

(4) FTER W & [d<l $ 30 H @ Jar & |

1[Option ID=6673]
2[Option ID=6674]
3[Option ID=6675]
4[Option ID=6676]

Sl. No.4
QBID:1554924

Identify the correct form of indirect speech of the following sentence.

The teacher said to Arjun, "Go away."

(1) The teacher requested Arjun to go away.

(2) Arjun asked the teacher if he could go away.
(3) The teacher ordered Arjun to go away.

(4) The teacher told Arjun that he can go away.

H 31 FyA faU T & U e (Assertion A) F wU H e € A g8 39S BRU
(Reason R) & ¥4 #:

AUFYT A ; AT I Tk 7 |

HRUT R ; I8 Rleg 93pd 7 ¥ Hdd gU 81 W 95d 3R 9! It &1 gal gl @ |

SRIE HYF & S d, - U M fased! H 9 999 Suged IR &1 994 S |
(1) A SRR & W61 € SR R, A =1 Wel arem g
(2) A SRR gFi 9 4fFT R, A 91 981 soren T 2

(3) ATSE ORI R O 8T &
(4) AT Sz R EE 2

1[Option ID=6677]




2[Option ID=6678]
3[Option ID=6679]
4[Option ID=6680]

Sl. No.5
QBID:1554925

Rearrange the followmg parts of a sentence labeled as PQRS to make a
meaningful sentence

P it clearly 1s no better than
Q having knowledge but
R never having any ideas at all

S lacking the power to express
(1) RPQS5
(2) QPRS
(3) QSPR
(4) SPRQ

= 21 B 2y 70 8 U =fUEUT (Assertion A) F ¥ ¥ &4 € O gH0 39 SRU
(Reason R) @ »4 #:

@Y A ;T Weg &1 SULN a5 & 100 el o], g aR & A9 & U B § |
&R R : 59 &9 R & 390l § 98 SR 99 6l 5 § |

ST $Y & @S |, A" G670 fdeed] # F Fgl ST &1 997 B |
(1) ASRREATUE IR R, A o1 98l @ &

(2) A ¥R R H TT & T R, A #1 981 e 6l &

(3) ANO 2GR o9 8

(4) AU eaFEIR IT 8

1[Option ID=6681]
2[Option ID=6682]
3[Option ID=6683]
4[Option ID=6684]

Sl. No.6
QBID:1554926

Pick out the antonym of 'vulnerable’
(1) Stoicism

(2) Immune

(3) Incompetent

(4) Capable




e & 9 o= wiftares 93 98 & -

A T

B.¥MH

C. 7
D. 72t
E. e

At fou 1 fawedl § € 981 I &1 994 Sifv:
(1) A.B3RC
(2) B.C3RD
(3) C.DRE
(4) B.C3RE

1[Option ID=6685]
2[Option ID=6686]
3[Option ID=6687]
4[Option ID=6688]

Sl. No.7
QBID:1554927

Pick out the meaning of the underlined idiom mn the following sentence.

Rina broke off i the middle of her story.

(1) left
(2) began anew

(3) stopped suddenly
(4) clarified

= 1 & |1y = 11 1 3 #ifon

o ! g !
A. SeTHREgs diAgma s I Al
B. HH TY B gl 11. fHamer
C. SHMT & el I11. T
D. TET SR FUI-ga HieH &34 are IV, LR

=4 feu 1 fawedl § € 981 I &1 994 Hifve:
(1) A-III, B-IV, C-1., D-II
(2) A-I, B-II, C-III. D-IV
(3) A-II. B-III. C-IV, D-I




(4) A-IV, B-1., C-II, D-III

1[Option ID=6689]
2[Option ID=6690]
3[Option ID=6691]
4[Option ID=6692]

Sl. No.8
QBID:1554928

Choose the correct passive voice form of the following sentence.

We ought to respect our teachers.

(1) Our teachers must be respected.
(2) Our teachers should be respected
(3) Our teachers ought to be respected.

(4) We need to respect our teachers

= €1 BuA fau g &
YA | ;3 GO Hera &1 0 o g gear W A g |
&Y [ 1 : Titee oo @ 58&1 3ugad o & "WH &1 ge gl |

IWRIad HYA & s H, A" 15U 70 Fhedi § 9 T8l I 1 999 B
(1) & 3R 1 SH 9 &

(2) T [ R I S 3Fd 3

(3) ®u [ 9 & Qfep B 1T 39 &

(4) & [ 39 T, Al U 11 T 7

1[Option ID=6693]
2[Option ID=6694]
3[Option ID=6695]
4[Option ID=6696]

Sl. No.9
QBID:1554929

Pick out the synonym of the following word.

envisage
(1) command

(2) condemn
(3) contemplate

(4) curious




Frofafed # @ o oy & waerdi § 2
A SiH
B. difg
C.avd

D. T

E. gl

e fau v el § 9 T8t IR &1 994 S
(1) HaA A, C 3R E
(2) HaaB.D AR E
(3) ¥ C,D SR E
(4) ST A, B 3R D

1[Option ID=6697]
2[Option ID=6698]
3[Option ID=6699]
4[Option ID=6700]

Sl. No.10
QBID:15549210

Choose the correct sentence.
(1) I found the food unedible.
(2) 1 found the food inedible.
(3) 1 found the food inaudible
(4) 1 found the food unedible

Fofafea # 9 sms ol &1 907 S |

A Tz IR i &1 R 9 ¢ |

B. 91 qfere &1 ST § |

C. o Fel | Al s g R g

D. & U9 &3 Uedl § 28 &% 3@ o7 |

E. 9391 & & UIel & a9 A &5 §gd el a9l |

i fag ¢ fawedl § 9 999 S9gsd I &1 997 SIg:
(1) %30 C.D. E
(2) 3@ A. B.D




(3) #a@ A.B.E
(4) #a@ B. C.D

1[Option ID=6605]
2[Option ID=6606]
3[Option ID=6607]
4[Option ID=6608]

Sl. No.11
QBID:15549211

'Commemorative Stamp' is printed in honour of specific person, while the
postage stamps for regular use are called :

(1) Post - Stamps

(2) Regular Stamps
(3) Definitive Stamps
(4) Postal Stamps

RS 5% eFe 4 fimiy =ofda & 99 # 210 99 &, e Haid 39 # o ad
1% & fewpcl Bl g o1 oA & -

(1) T=-fEFe @e-2m)

(2) Fafia o fewe ae-wm)
(3) =t o1& fewe (Eiftefafea wrm)
(4) =F/EEE Eee [dred 2

1[Option ID=6609]
2[Option ID=6610]
3[Option ID=6611]
4[Option ID=6612]

Sl. No.12
QBID:15549212

Identify the location of India's Astronomical Observatory.
(1) Itanagar

(2) Bangalore

(3) Sriharikota

(4) Ladakh

WReTg it demmen s a2

(1) SER

(2) &R

(3) dishsrer
(4) TETE

1[Option ID=6613]
2[Option ID=6614]
3[Option ID=6615]
4[Option ID=6616]

SI. No.13




QBID:15549213
Given below are two statements: one i1s labeled as Assertion-A and the other is
labeled as Reason-R

Assertion A : It 1s reported in The Hindu recently that custodial death (both police
and judicial) amounted to more than 11 thousand in the last few years.

Reason R : Police brutality in Indian jails has increased many times.

In light of the above statements. choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are but R 1s NOT the correct explanation of A

(3) A is true but B 1s false
(4) A is false but R 1s true

e &1 v fay Y 7 U P (Assertion A) F w9 H ff&d 8 O gE SUS SR
(Reason R) & 30 #:

HHFEYT A - T B H T g srmer ¥ s o fF e o ol | gfew ok =fas)
T Al e A aE A gs ¢ |

SR R : YR well § g &1 Hidl &8 T 98 15 6 |

SR HUA & AP §, g [§U 70 Aecd! H § 999 Iugad Sux &1 999 HIg |
(1) A 3RREHE ¥61§ #RR, A & 95 Orem &

(2) A 3R R Ml 981 § 9fEA R, A 31 951 sarem 181 &

(3) ATSZ AR O AR

(4) ATEl TRIBaFAR W 2

1[Option ID=6617]
2[Option ID=6618]
3[Option ID=6619]
4[Option ID=6620]

Sl. No.14
QBID:15549214

What is the largest organ of human body ?
(1) Bram
(2) Lung
(3) Skin
(4) Stomach
AHg-THR &1 T4 g1 A | ?
(1) #AfErs
(2) HES
ogdl




(3)
(4) T/ 3HEE

1[Option ID=6621]
2[Option ID=6622]
3[Option ID=6623]
4[Option ID=6624]

Sl. No.15
QBID:15549215

Identify the correct combination of elements in Permafrost.
A. Soil

B. 01l

C. Gravel

D. Sand

E: Jee

F. Snow

Choose the correct answer from the options given below :
a) C.D.B.F
2) A.B.D.E
3) A.C.D.E
4) A.B.E.F

QIJER-4H J Tl & Fol 99 P! UgaH BT |
A. Tal
B.dd
C. gordl
D. @],
E. %
F.f&d
1= fau e fa el © 9 Hel SR &1 997 SIfviE:
1) C.D.B.F
(2) AAB.D.E

3) A.C.D.E
4) A.B.E.F




1[Option ID=6625]
2[Option ID=6626]
3[Option ID=6627]
4[Option ID=6628]

Sl. No.16
QBID:15549216

A crossing had four paths leading to College. Hospital, School and Market. If Ram
has to reach Market from Hospital, he has to travel towards East and cross the
crossing. If College is in the North of the crossing. in which direction 1s School
from the crossing?

(1) North

(2) South

(3) East

(4) West

U GRIE | TR I Bl SEIAI, A AR TR B W0 | TG TH BRI G R
UEg1 B a1 99 9 @1 AR a1 9o 3R IRI81 R 1 S | 18 Sl 9RE ° 9
femAddipuare S feafemad 2

(1) 3=

(2) afEm

3) o

(4) uigm

1[Option ID=6629]
2[Option ID=6630]

3[Option ID=6631]
4[Option ID=6632]

Sl. No.17
QBID:15549217

A statement is followed by two courses of action. Assume everything in the
statement 1s true and on the basis of the mformation given i the statement
decide which of the course of action logically follows for pursumg

Statements :

The Helicopter service in U. S. 1s running mto losses since its launch 20 years

back.

Course of Action

Statements : (I) The helicopter service should be given financial assistance of $
300 million dollars to sustain itself.

Statements : (II) The helicopter services should hire a consultant who can advise
them measures which can be taken to reduce expenditure.

(1) Only (I) follows
(2)




Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows
oA s ag gl ha-y UM I i s A 9a $2 90 ¢ | goadod H &l 75
T & YR R g5 Ffa Fifn & oifés ¥0 9 $F w1 oy so=mn o =ifee 2
ooy

ST H BlepR-Sa1 20 99 Ra IR UREe S Ta S S ue § el © |

fvar-9y : (1) eefiemeR-9a &1 $ 300 fftm= s 1 &xita vergar 41 9 9ifey arfe 9
@Y ®I HUIE 96 |

(I1) TeieER-garef &1 TF WirRieral @1 981 4TS TR -1 9ifey @ 96 @4 9ar ar”l
Hehl & X H 901E ¢ 9@ |

(1) 5a () Fel & |

(2) Fad (1) ¥ ¢ |

(3) EHf (1) IR (1) T 2 |

(4) Fa () MRAF ) T 5 |

1[Option ID=6633]
2[Option ID=6634]
3[Option ID=6635]
4[Option ID=6636]

Sl. No.18
QBID:15549218

The following question has a statement & three conclusions. Check the
conclusion on the basis of the statement and choose the correct option :

Statement : A manager advised seven workers to resign due to low productivity
or they will be terminated tomorrow. Six workers resigned immediately.

Conclusion : (1) One worker will resign tomorrow.
(11) The manager will terminate him tomorrow.

(u1) The workers may not resign and shall also not be termumated.
(1) Only (1) follows

(2) Ounly (u) follows

(3) Only (1) follows

(4) Etither (1) or (u) follows




frafafad uy & te oYA 3R OF e R T § | Y9 & 3R 1R st
BT WRIEUT BT 3R F5! faded I+ -

DY ; U HaYD - DH IAGDdl D BRI Hd BRI DI 5101 o DI
g%%m‘oﬁ 31 36 DA Hargdd DR (401 ST | T8 BRI A dabldl S|
|

Ty : (i) U SR Fd S 1B1  |

(if) TEY® I Dl Yarad D & |

(iii) DTHIR SXIP] ol & Febdl SR - 8 Yarad a1 ST |
(1) Pad (i) AFL BT B

(2) Had (i) AELBIAT &

(3) Pad (iii) AL BIAT §
(@) TS () 1 (i) AL ST &

1[Option ID=6637]
2[Option ID=6638]
3[Option ID=6639]
4[Option ID=6640]

Sl. No.19
QBID:15549219

There are three intersecting circles I, S, P. Circle I stands for Class XII . S stands
tor Students and P stands for Poor. Different regions are represented by letters
from a to g.

\

Which region is represented by Class XII students who are not poor ?
(1) Onlya
(2) Ondd

(3) Bothaandd
(4) Only b




I.S. AR P dF W=l ga § | 1 P& 1201 & oL 8. s SHEI & g iR p e
& T | SIAT-SIET 8 Bl a | ¢ TP P 3HeR] U AT TG |

a’a

B

ST &7 T8 124 Ban S ol Bl exiar g o el g2 -
(1) $dd a

(2) Hadd

(3) 3 3R baHl

(4) Hadb

1[Option ID=6641]
2[Option ID=6642]
3[Option ID=6643]
4[Option ID=6644]

Sl. No.20
QBID:15549220

A Statement is followed by two courses of action. Assume that the mformation
etven in the statement is true. On the basis of the statement decide which course
action logically follows for perusing.

Statement :

The Chief Mimster has recerved a complaint regarding demand of bribe by a
senior officer for favormg an industry.

Course of action :

(1) The mvestigating agency should catch the officer red handed and take legal
course of action.

(1) The Chief Minister should wait for more complamts about the officer as this
might be one odd case.

(1) Only (1) follows

(2) Only (u) follows

(3) Neither (1) nor (1) follows
(4) Both (1) and (i) follow




T HE S YA G FREA S T T 1 aA & sy & § T G w § | FUH & R
R e 3 afes 30 ¥ ®F 9 SR ar el 8

w=YA

fodl S &1 va o9 & g aE ofie g vy 31 7 & ded H ue Rema g
&I U g5 |

CACICIEE
(i) wa goldt &1 Sfiert &1 -3 uss1 91fey SR S SRAE S 9I1Ry |

(if) TR B T F ai & R oifie Rird! BT SauR BT ARy FE T8
HIATETT VST 51 9l ¢ |

(1) &ad (i) aF e &

(2) & (i) TR B &

(3) T (i) 3R T (ii) T ST E

(4) (i) 3R (i) &1 aF e &

1[Option ID=6649]
2[Option ID=6650]
3[Option ID=6651]
4[Option ID=6652]

Sl. No.21
QBID:15549221

One tap can fill an empty cistern m 2 hours and another tap can empty the same
filled cistern in 3 hours. The time taken to fill the cistern if both the taps are
opened. is :

(1) 6 hours

(2) 7 hours

(3) 6.30 hours

(4) 8 hours

U 0 6 Al $75 &1 2 9e # WX ghal § 4R U 90 39 W gU oS &I 3 °9¢ § |l
Y GHal ¢ | afg SFf 70 gd gU el a F &1 WA § fba wmg @ 2

(1) 6

(2) 74

(3) 6.30 ®<

(4) 82

1[Option ID=6653]

2[Option ID=6654]

3[Option ID=6655]
4[Option ID=6656]

Sl. No.22
QBID:15549222




In how many different ways can the letters of the word THERAPY be arranged
so that the vowels never come together ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

¥eg THERAPY & &Rl &1 09 - adie! § daifoa o o 9&al &, oA =% 3R
w4 4 91y 7 31 g ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

1[Option ID=6657]
2[Option ID=6658]

3[Option ID=6659]
4[Option ID=6660]

Sl. No.23
QBID:15549223

In the four consecutive prime numbers that are i ascending order, the product
of first three 15 385 and that of last three 15 1001. The largest prume number 1s :
(1) 11

(2) 13

(3) 17

(4) 19

TR HHITE U0 SE HRIE &0 # § | 370 § Ugd &9 &1 A% 385 © &k 918 &1
= demaf 1 qUEEa 1001 7 | 599 999 95 ST S B A 8 2

(1) 11

(2) 13

(3) 17

(4) 19

1[Option ID=6661]
2[Option ID=6662]

3[Option ID=6663]
4[Option ID=6664]

Sl. No.24
QBID:15549224

If 1.5 = 0.04y. then the value of }Y—X 1s:
y+x

(1) 730/77

(2) 73/77

(3) 7.3/77

(4) 0.73/77




V+Xx

v

e 1.5x=0.04y 2H Y—X FAFFE?

(1) 730/77

(2) 73/77

(3) 7.3/77

(4) 0.73/77
1[Option ID=6665]
2[Option ID=6666]

3[Option ID=6667]
4[Option ID=6668]

Sl. No.25
QBID:15549225

The sum of the present ages of father and son is 90 years. 10 years earlier, the
ratio of their ages was 5:2. The present age of the father is :

(1) 65 years
(2) 68 years
(3) 60 years
(4) 70 years

i iR g3 ®1 aau= g &1 9M 90 a4 § | 10 o9 U, S9! g F &g F1 g 5:2
ul | R S ada s Em g 2

(1) 6599
(2) 68 ad
(3) 60 ad
(4) 70 =

1[Option ID=6669]
2[Option ID=6670]
3[Option ID=6671]
4[Option ID=6672]

Sl. No.26
QBID:1274601

Given below are two statements :

M
Statement I : The limit of the sequence (1- I—| 15 .
i)

. - o e
Statement II : The series Y, — is divergent.
g 100

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true




SIEEACRICAE Rl 1o
BUTI : STHH ':"ﬂ” G e
FU I A0 Y L SR R

W@W%Wﬁ?ﬂ%%ﬂﬂﬁﬂﬁ%ﬂﬁdmwwﬁﬁmz
(1) FYFI AR 9§

(2) HYAI AR I G T B

(3) HYT I TA 8. A HUT I T ©

(4) FUFI T . AP pUT 19 ©

1[Option ID=5101]
2[Option ID=5102]
3[Option ID=5103]
4[Option ID=5104]

Sl. No.27
QBID:1274602
. 3 5 7 .
The sum of first n-terms of the serites ——+——+———+*...... 13 equal to
1.2 2=.3 3 1
272 3232 a2 42
n® —2n
(1) 3
(n+1)-
nz -2
(2) S
(n+1)*
& |
n+2n
(3) 3
(n+1)~°
b
n-+2
(4) - 3
(n+1)-
3 5 7 ~
gt Tt EatE & YT n US| &1 OF aRIeR ©
- -- -- J. - -
.
n-—-2n
(1) 3
(n+1)~
.P’!: -2
(2) >
(n+1)*
L |
e+ 2R
(3) 5
(n+1)=
gl
ne+2
(4) - 5
(n+1)-

1[Option ID=5145]




2[Option ID=5146]
3[Option ID=5147]
4[Option ID=5148]

Sl. No.28

QBID:1274603

The series 3. @ |1+ :—}] ‘ converges if

r=1 :

1) 0<a<1

(2) a=1

(3) 0<=ac=1

(4) az1

ot Zn”[H:—}]‘ ififea gl & afe
r=1 :

1) 0<a<1

(2) a=1

(3) 0<=a=1

(4) az1

1[Option ID=5189]

2[Option ID=5190]

3[Option ID=5191]
4[Option ID=5192]

Sl. No.29
QBID:1274604

‘.t:"_j sml:ll X# EII

Let f(x)= , then f(x) 18 continuous but not differentiable at x
| 0; x=0 |
=01if
7]
1) ne|—,
2
f3 }
(2) ne|=,
L2
3 ne |, _}
() ne f{:,i}
2
‘t'\ﬂ_jsinlfl]' t:t]l . -
o _,r!,ﬂ=|' \3) T4 x =0 W f(x) Iad g [ faba- arg
0; x=0]




1[Option ID=5233]
2[Option ID=5234]
3[Option ID=5235]
4[Option ID=5236]

Sl. No.30
QBID:1274605
I3\t
The value of lim |L| is
A n+3)

n—so
(1) &=

(2) &5

(3) &2

(4) b

lim 'ﬂ]”ﬁ HIOET
n—eaipn<43/)

(1)

(2) &9

(3) &2

(4) &0

1[Option ID=5277]
2[Option ID=5278]
3[Option ID=5279]
4[Option ID=5280]

SI. No.31
QBID:1274606

M
, ) s . n—
If flx)= z B, lx—da|", where B,'s are positive real constants and 'a' is a real
=1
number. then f(x) is

(1) not continuous at x =a
(2) Continuous everywhere but not differentiable at x = b (Za)

(3) Continuous everywhere but not differentiable at x =a

(4) Differentiable everywhere.




afE f(x)= Y B, |x—a” . gl p,'s YA qRATI® fRRI® & qUl @ T
0

=

qrfa® ST 6, 49 f(x) ©

(1) x=q QR Had Tel

(2) B WG Hdd [ x = b (24) TR HaH -1 AN el
(3) B o8 Hdd fobed x = a W 3facha gy el

(4) B OFTE A arg

1[Option ID=5321]
2[Option ID=5322]
3[Option ID=5323]
4[Option ID=5324]

Sl. No.32
QBID:1274607

"}

Ifxy=e—¢ then [d—:] equals to
x=0

dic

1
1) —
e

1
(2) ==
g

(3) ¢
1

4 5
e

Ui xy=e— &' T4 [d-"f] R T
dc” x=0

1
1) —

e

1
(2) ==&

e?r

(3) ¢

1
4 —5
e

1[Option ID=5365]
2[Option ID=5366]
3[Option ID=5367]
4[Option ID=5368]

Sl. No.33
QBID:1274608




“,k sl 'l.':k
Let §= Z F and T = z [‘1“}

then. which of the following statement is true

k=0 k=0
5
S5
(1) T—E=ﬂ
5
2) T+=—=10
(2) >
2x
(3) £:1+£
S 2
—2x
(4) Eal8
5
o) fk == Ijk y
o s= Y L quir- Y I— de. feidsrm s sa®
k! (2k)!
k=0 k=0
5
(1) T_E:D
S
2) T+2=0
(2) 3
2x
(3) £=1+£
S 2
—2x
@ L_1-¢
& 2

1[Option ID=5393]
2[Option ID=5394]
3[Option ID=5395]
4[Option ID=5396]

Sl. No.34
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Match List I with List IT :

List I

List II

A jeI [..]cgex - %] e

I log, (log, x|+ C

" xlog, x

1L & (Ilc:gg x— l] +C
1 X/

I e*-log,x+C

D. jx" (1+log, x)dx

IV 2" +0

Choose the correct answer from the options given below :

(1) A-IL B-III. C-IV. D-I
(2) A-L B-IIL. C-II. D-IV




(3) A-IIL B-I. C-II. D-IV
(4) A-IL B-II C-IIIL. D-IV

I 1o 1Y gl 11 &1 e Sifoie .

List I List IT
A jex{mgemf]dr I log,(log, x)+ C

_ J.Ilie : 1. " [;lgger_%] +C
C. J‘er[ T, T%Idr [L - log, x+C
D. [x*(1+log, x)dx V. ¥*+0C
i< fau U fas otl I 9§ TEl STk 1 99 Hifeil -

(1) A-II. B-III. C-IV, D-I
(2) A-L B-IIIL C-II. D-IV
(3) A-IIL B-I. C-II. D-IV
(4) A-IL B-II C-IIIL. D-IV
1[Option ID=5397]
2[Option ID=5398]

3[Option ID=5399]
4[Option ID=5400]
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A square matrix P statisfies PZ = I — 2P, where I is an identity matrix having same
order as of P. If P*=29P — 12] then n is -

(1) 4

(2) 5

(3) 6

(4) 3

U 1l 3T P2 =1 2P Dl QY DRl © oie! 1 Uh dcdHd 3odg ¢ [orda]
BIfc p &l DI & THH G,

afg pr=20P_12ITd g -
(1) 4
(2) 5§
(3)
(4)

s Oy

1[Option ID=5105]
2[Option ID=5106]




3[Option ID=5107]
4[Option ID=5108]
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a x ,
L | ={ } with @ #—1. 1 and xy = lthen dﬁtl"—i_aj_r] is equal to -
y a /

(1) g% -1

(2) (a=+ 1)

(3) (a®-1)

4) (a—1)
t X \

?Zlﬁ[fj;:{ }a_:-—l.1?{2ﬂx;=1$ET25FIH¢1|;A.J|W%W$-
y a |

(1) g* -1

(2) (a®+ 1)

(3) (a®—1)?
@) (a—1)

1[Option ID=5109]
2[Option ID=5110]
3[Option ID=5111]
4[Option ID=5112]
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1
e =S
Integral [ [ Fley)dey 1 equivalent to
0 )
1"'_3 X \E \I]-‘:r:
(1) J [ £(x.v)dxay + J J flx.v)dxdy
00 1 0
1
- 11
) | |  fix.v)dedy + J |  flx.y)dxah
0 0 1
F Yi—x=
1 Vi 2o
3 | | floylddy+ | | flx.y)dedy
0 0 1 2




"-"E % 1 J_
J th V) dedy + | J £ {x.v) dedy
0 0 i 0
V2
1
s BE RS
J J f‘-x,;wdx@-@wgﬁa$
0

\r{f *Jl--‘x:
fi.r. v)dxdy + J J flx.v)dxdy
1 0

(2) fix.v)dedy + | flx.y)dxdy

~~

[

Nt
\'-:"-4""|'—' Dt_.l‘é:"l
(= )

=
I

'

1
(3) J flx,y)dxdy + | flx,y)dxdy

0 )

1-x"
l ]
J‘T x 1 -
J Jm._r]fhm-+ | | rleyda
00 A, D

2

1[Option ID=5113]
2[Option ID=5114]
3[Option ID=5115]
4[Option ID=5116]
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The area of region {t xy):x>0,]y|<3, :;‘2 > 4_t} 18
9

1) —
4

9
(2) -
2

4
&= {t:f,;r]:x >0,y <3, y* > 4.1'} @1 &A%d §

o
4




(2) 9
2

27
(3) —
2

27
4) —
4

1[Option ID=5117]
2[Option ID=5118]
3[Option ID=5119]
4[Option ID=5120]
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1
31 g
Integral J J 1 (x.y) dedy 15 equivalent to
0 2x
1
3 1y 1 2
| | fr.t_,ylfirr.fj'+_l Jflt v) dxdy
0 0 10
3
2
3 1 I—y
2) | | fix,y)dedy + J Jf[x,;rld‘mfl‘
0 2 9
3
Z ¥
31 1]
3 | | fluyiddy+| | flx.y)dxdy
0 0 E 0
3
1 ¥
E ? I 1-3
4 | Jfl"t ) dxdy + J J f(x,y)dedy
00 10
3
&
TareaT ¥ A—=X
J inrndmﬁg g
0 2x
1
3 1-y 1 ?
(1) J J fix. 1|.rirr.f1+_| qu v) dxdy
0 0 10
3

(2)




I

f{x,y)dxdy

e L

¥y
E
| fx,y)dxdy +
0

D Comm— 40
o — |

'rlll.ul

-y
J f{x,y) dedy +
0

(3) fh. v ) dxdy

L B —;l.-ll'v-;

o ey |

I_‘JI [y —

1p1

@ | | flx.y)dxdy + J f(x.y) dcdy

[ T S LY [N
o ey o | 5

Laa | |_..1_,__ [a—y
=]

1[Option ID=5121]
2[Option ID=5122]
3[Option ID=5123]
4[Option ID=5124]
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The area bounded between parabola 4y = 3x? and a straight line y = 2x— 1 is

_._1_
1) —
27

8
(2) —
9
4
3) —
9

&
4) —
27

T 4y = 332 TUT U W@y = 2x — 1 GRTIRES &7 T §TFA ¢ -

4
1) —
27

8
(2) —
9
4
3) —
9

&
4) —
27

1[Option ID=5125]
2[Option ID=5126]
3[Option ID=5127]
4[Option ID=5128]

Sl. No.41
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Given below are two statements :

Statement I : If 4 1s a Skew-symmetric matrix of odd order then det(4) =0
Statement IT : If 4 is a square matrix of order n and o is any scalar, then det{a4) =
o 1 det(4)

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct

fR S pyT UM E -

HYA1 : T1g 4 fa9H DI 1 U favH AT AR & a6 det(4) =0
DY : Tl A, n BIC BT MG & qUT o B3 UT 3G T T det(ad) = o~ !
det(4)

SWRIF DY & el T, 14 fSU T fdeedi ¥ ¥ g Iuged Ik &l 994
HIfoTT :

(1) HYFI 3R I SH Tel 8

(2) HYF 1 3R 11 ST T0d &

(3) YT IEI 8. AT YT 1 TTad ©

(4) PYTITEd o, API PUT I TS &

1[Option ID=5129]
2[Option ID=5130]
3[Option ID=5131]
4[Option ID=5132]

Sl. No.42
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Consider the following system of linear equations :

x+y+2z=6

¥tptz=4
ax+2yt+4z="12

The above system of equations has more than one solution if a 1s -
(1) 1

(2)
(3)
(4)

| S e

L]




9 Yl gHiel & e H v -

=06

]

x+yp+2

x+yt+tz=4

= o

e+ 2yt 4z=12

SR GHIER & g H U 9 P s 5 afd.a ® -

(1) 1
(2)
(3)
(4)

g ko OO

1[Option ID=5133]
2[Option ID=5134]
3[Option ID=5135]
4[Option ID=5136]

Sl. No.43
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If the solution of a differential equation 1s given by y = clel"' -+ c:e_‘lx . then

(1) d—f+3i+ﬁv1':ﬂ
ax = dx
de= dx

(3) dhil+£—ﬁ_r=ﬂ
dr= dx

@ 222 60
dc~ dlx

Ufe TP SHTH T THBRT BT T 3 = ¢4 + o GRI RAT T L &

(1) d—f+3i+ﬁv1':ﬂ
ax = dx
de= dx
d’y &

(3) =+ —=—6y =
dr= dx

@ 222 60
dc~ dlx

1[Option ID=5137]
2[Option ID=5138]
3[Option ID=5139]
4[Option ID=5140]
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The order of differential equation formed by family of curve xy = ae® + fe™ + x° is
(1) 3

(2)
(3)

(4)
THHA xy = ae® + Be™* +x° GRI FIHT HTHTA THIDHRU DI I T -

(1)
(2)
(3)
(4)

o =

b = odm L

1[Option ID=5141]
2[Option ID=5142]
3[Option ID=5143]
4[Option ID=5144]

Sl. No.45
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Four persons A. B. C and D take turns (in the sequence A. B. C. D. A. B. C. D.
A....) in rolling a fair die. Out of these 4 persons. the one who rolls a six for the
first time will win the game. Then the probability that D wins 1s

IR AT A. B. C. D (3FFH A. B. C.D.A. B. C. D. A.....) U Ug! TR &l
TSHId § | 3 9R| feqdl & ¥ fore] Ugd ©: (6) 1 Uil TR 8. 98 Sidl
G311 I &I ¢ 1 99 D & Sita &1 Wifded g




1[Option ID=5149]
2[Option ID=5150]
3[Option ID=5151]
4[Option ID=5152]

Sl. No.46
QBID:12746021

In the context of right skewed probability density function. which of the following
18 correct?

(1) Mean > Mode = Median

(2) Mean > Median > Mode

(3) Mode > Median = Mean

(4) Median > Mean > Mode

&l & fauy vifded - Bad & Jed 4 A9 d o191 9gl 52
(1) HIH >dgaP > HIZRI
(2) HIH > AHDT > dgad
(3) §gaD > HIfeHDl > T1eH
(4) HIH®T > A1 > qgaD

1[Option ID=5153]
2[Option ID=5154]
3[Option ID=5155]
4[Option ID=5156]

Sl. No.47
QBID:12746022

The frequency curve of a data is given below :

.

5

~ 4
Frequency /
{ | :

1 3 5 7 9

Observation

Then the mean, median and mode of the data are respectively be
(1) 5.3.5

(2) 4.066. 3.3

3) 5.5.5

(4) 4.066. 5. 3




4 U® 3P T IRERAI 9% [T AT § -

Eres
5
A 4
AT e i
3 2
™
1 3 5 7 9

e

3Hiers & HIed, WP Ul Sgad HA: ©
(1) 5.3.5

(2) 4.066. 3. 3

(3) 5.5.5

(4) 4.066. 5.3

1[Option ID=5157]

2[Option ID=5158]

3[Option ID=5159]
4[Option ID=5160]

Sl. No.48
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Let A4 and B be two events with P(4) = 0.5. P(B) = 0.3 and PlanBS) =03 Then
p(B|av BY) is equal to

2
(1) —

0

1
(2) —
10

1
(3) —

2

1
(4) —

g
T P(4) = 0.5, P(B) = 0.3 AU p( 4 5C) = 3. Ve 4 TUBEA UL | Td
PB4 B¢) MR FHES

2
1) =

9

1
(2) —
10

1
3) -
2

(4)




a
1[Option ID=5161]
2[Option ID=5162]

3[Option ID=5163]
4[Option ID=5164]

Sl. No.49
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If P(4) = x(0) and P(B) = »(£0) then P(B|4) belongs to

-1 ¥
(1) |~ :L}
TR .
[ x + v—1 x+v¥
(2) ; s ' :|
| x X
B yV X+%
3) | =- - :|
X X
(@) | 2221 e-i-}
| x X
afg P(4) = x(20) YT P(B) = y(20) T4 P(B|4) Feiftid (e 1 FE &
[ p—1 ¥
(1) '_: .*_i|
T i -
[x+y-1 x+y
(2) ; : ' :|
| x X
" yV X+¥%
3) | =- - j|
L X
L. X X

1[Option ID=5165]
2[Option ID=5166]
3[Option ID=5167]
4[Option ID=5168]

Sl. No.50
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Let P(4)=0.7. P(B)=0.2 and 4 B .then minimum value of P[4B%] is
(1) 0.7

(2) 0

(3) 0.2

(4) 0.5

O P(4) =0.7. P(B) = 0.2 3R 4 p 8 P[4B°] DI HHId T G -
(1) 0.7

@) 0

(3) 0.2




(4) 0.5

1[Option ID=5169]
2[Option ID=5170]
3[Option ID=5171]
4[Option ID=5172]

Sl. No.51
QBID:12746026

The data collected from the National Census Survey Report 13
(1) Primary and Accurate

(2) Primary and Inaccurate

(3) Secondary

(4) Not trustworthy

T SRTUAT &l RUE 9§ Ui siidsi s
(1) WU dUI g
(2) WTYTHS TUT 3=

(3) fgdias
(4) 3fgyg=rg

1[Option ID=5173]
2[Option ID=5174]
3[Option ID=5175]
4[Option ID=5176]

Sl. No.52
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U A contains 4 white and 6 black balls. Urn B contains 6 white and 4 black balls.
An Urn 1s selected at random and a ball 1s drawn at random from the selected Urn.
If the drawn ball 1s white, what is the probability that Urn A was selected.

(1) 04

(2) 0.6

(3) 0.5

(4) 0.45

PUAT 4B aUT 6 PTG T | DUB H 6 Ubg aul 4 PIAl G & | U pY
D Uleiwsd 9gH4d [&a1 Ta1 auT 399 © gelwsd Us Tig Aot | afe Ao
T 71 9thg &, DY A I FaHd fbar a1 &1 Wiiidar 1 57

(1) 0.4
(2) 0.6
(3) 0.5
(4) 0.45
1[Option ID=5177]
2[Option ID=5178]

3[Option ID=5179]
4[Option ID=5180]




Sl. No.53
QBID:12746028

Pl
1+t
density function is

Let flp)= —e2 < ¥ <o then the value of p for which f(y) 1s a probability

(1)

Wfij.lth,___;.:.qJ'{c-:- ﬁpﬁﬂﬂﬁﬂ%@fﬁl}wwm

1[Option ID=5181]
2[Option ID=5182]
3[Option ID=5183]
4[Option ID=5184]

Sl. No.54
QBID:12746029

Let x4. X5. ..... X;, be independent and identically distributed Bernoulli r.v. with

parameter p (0 <p < 1).

Then E (min (xy. X5, ... X3)) 18

(1) 1-p”

(2) p”

(3) 1-(1-p)*

4) (1-p)"

AT x,. Xy, ... x, WTEA p (0 < p < 1) P HIY Weid qYUT GaGH=Y Y dfcd sl
L.V ﬁl dd

E (min (xq. X5, ... X;,) B
(1) 1 _pi";'
2) P:?




(3) 1—(1-p)*
(4) (1-p)*

1[Option ID=5185]
2[Option ID=5186]
3[Option ID=5187]
4[Option ID=5188]

Sl. No.55
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If the correlation coefficient between x and v 1s 0.3, then the correlation between
2x+3and 43y 1s

(1) 0.6

(2) 0.9

(3) 0.3

(4) 0.3

afe  TUT y & T TEHY 0P 0.3 § | T9 2 + 3 TUT 4 - 3y S I TgHay ¢
(1) 0.0

(2) 0.9

(3) 0.3

(4) 0.3

1[Option ID=5193]

2[Option ID=5194]

3[Option ID=5195]
4[Option ID=5196]

Sl. No.56
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Let ¥ be a random variable with probability density function

“?)Uf
B e % lify20,050,B50

f)=1]a

¥)
l 0, otherwise

If E(¥)=10 and F(Y) = 5. then (P, o) 1s

(1) (2.60)
(2) (2.40)
(3) (4.20)
(4) (2.20)
: ] B e P v lif y>0,00>0,p>0
0 o) =1 T : ) I dl 91 & 1Y ¥ U
0. SIGIEES

IR ® IRe | ACEW) = 10T M) =5. 79 (B. o) B
(1)




(2. 60)
(2) (2.40)
(3) (4. 20)
(4) (2.20)
1[Option ID=5197]
2[Option ID=5198]

3[Option ID=5199]
4[Option ID=5200]

Sl. No.57
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Let X have a symmetric density function f. symmetric about 15 and F be the
corresponding distribution function. If P(XY<30)=0.8then P(0 <X <15)1s
(1) 0.3
(2) 0.2
(3) 0.4
(4) 0.5

OHEIX S U 15 & Saile AT Uh ST U4d Bad qul F 39U acd
A gl UG P(X<30)=08TEP(0<X=<15 8

(1) 0.3

(2) 0.2

(3) 0.4

(4) 0.5

1[Option ID=5201]

2[Option ID=5202]

3[Option ID=5203]
4[Option ID=5204]

Sl. No.58
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If fand g are any two density function (pdf) then which one of the following 1s
always true

(1) 2f—gisapdf
(2) max(f, g)is a pdf
(3) f-gisapdf

(4) 2f+g 1s a pdf
3

OfE AUl ¢ P15 i 3 99 B (pdf) € € FE T T FIS U Jod A 2
(1) 2f— g TP pdf 8
(2) max(f. g) UPh pdf g

(3) f-gUD pdfe
(4)




2/ +8 uwpdfd
3

1[Option ID=5205]
2[Option ID=5206]
3[Option ID=5207]
4[Option ID=5208]

Sl. No.59
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If Xj. X5, Xj are independent and identically distributed random variables with
distribution function F(x). then P(X; <X, <X3) 18

1
1) —
2
1
(2) —
3
1
3) —
4
1
4) —
6

al X,. X,. X, 6 Bad F(x) & 91U Wad a9y &fcd Jef=se @R & | a9
P(X; <X, <X3)®

1
(1) —
2
1
(2) —
3
1
3) —
4
1
4) —
6

1[Option ID=5209]
2[Option ID=5210]
3[Option ID=5211]
4[Option ID=5212]
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Let Y have a continuous uniform distribution on the interval 0 and 1 1.e. U(0, 1).
The conditional probability density function of X given Y is given by

l, if0=x< ypel
:

| 0. otherwise

Then E(X) 1s




(1) 1
4
1
(2) —
4
1
3) —
2
3
4) —
2

T 7S U SR 0 dUT 1 GUTU(0, 1) RUS ad g geA g I X feary
DI JUidaY Wil Uicd B

[i, gfg 0 <x < y<l1
flx|y)=1»
‘ 0. Afafiad

GRIfC TR ITEX) ©

3
(1)

4
1
(2) —
4

1

3) —
2

3

4) —
2

1[Option ID=5213]
2[Option ID=5214]
3[Option ID=5215]
4[Option ID=5216]
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If the distribution function of X is given by

[0 x<0

&)
F{I.]:{x— 0<x<3

9

1 15

Then expected value of X 1s -
(1) 0.5

(2) 1

(3) 1.5




.
Flx)=1X 0<x<3
0
1

T
J8 XTI Ud A ©
(1) 0.5
2 1
(3) 1.5
4) 2

1[Option ID=5217]
2[Option ID=5218]
3[Option ID=5219]
4[Option ID=5220]

Sl. No.62
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Let X be a discrete random variable with the moment generating function

{1+2eﬂ3{1+3eﬂ4

M_(t)=- JR
- 6912
then
(1) E{X)=35
(2) V{Af]=igi
48
P(X>2) =22
3 {‘ r > A= i
) ] 6912
: 4
(4) P(X=5)=——
6912
f A \ 4
AT o oA ([1+2€°| (1+3€ o :
XW M_(1)=- —r J .r3_'$ﬁ|5ft G SRIdd
ref<s® IR el d49 -
(1) E{X)=5
(2) V{Af]=igi
48
25
(3) P(X >2)=—2




(4) PIX=5)= i
6912

1[Option ID=5221]
2[Option ID=5222]
3[Option ID=5223]
4[Option ID=5224]

Sl. No.63
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If ¥ 1s an F(a, p) random variable, where a > 2, p > 2. then E(¥) E|ll equals
| }.' |

BiB-2)
afa—-2)
-2

@ B2

3) {'rﬁ.
(o-2)(B-2)
a{3-2)

) Bla-2)

afe ¥ U YRS TR (. p) 8. 561 0> 2, >2.T9 £(y). p|L| WRE
1},-_

: BiE-2)
alae—2)
ala-2)

) Bp-2)

(3)

1[Option ID=5225]
2[Option ID=5226]
3[Option ID=5227]
4[Option ID=5228]

Sl. No.64
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Let Z be an exponential random variable with mean o. where o = 0. The
conditional distribution of ¥ given Z has Poisson distribution with mean Z. Then

the variance of Z 1

-~

(1) g~

(2) afl+a)

(3)
1+




(4) o+1

=
o

AT Z °H19H o 9181 o = 0 dTd] U Idldid! defesd @R & | yicar z @1
qufddy dcd U1 z9ied @l §e4 ¢ | 98 Z BT TR0 ¢ |

(1) o2

(2) afl+a)

o
G3) ——
1+

o +1

(4) )
o

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

5229]
5230]
5231]
5232]

Sl. No.65

QBID:12746040
Let ¥'be a Geometric (0.6) random variable taking values 1. 2. ..... Then P(Y =5

Y>2)is

(1) 0.0864
(2) 0.3457
(3) 0.0754
(4) 0.0384

HAH1Y, 1,2
2)%

(1) 0.0864
(2) 0.3457
(3) 0.0754
(4) 0.0384

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

... I & 1Y U TUIRR (0.6) AT TTefwsd oR 6 | dd P(Y=5| Y=

5237]
5238]
5239]
5240]

Sl. No.66

QBID:12746041
If X 1s distributed as Binomial (n. p) 0 <p < 1. then

(1) = 1s distributed as Binomial fg, p|
2 &

(2) —Xis distributed as Binomial (—n, p)

(3) n—X1is distributed as Binonual (n, 1 — p)

(4) 2Xis distributed as Binomial (2, p)




gfe X qEITHTd (n. p) 0 <p < 1, Bl OXg Sfcd § ad -
(1) %Hﬁﬂ%ﬁﬁ?ﬁﬁlﬂﬁ (§p| CARTES
(2) —Xﬁ%m(—}z.p)ﬁaﬁ

3) n- X &fcd g TR (n. 1 —p) B ORE
(4) 2x8fed g FEAIETd (20, p) Bl A6

1[Option ID=5241]
2[Option ID=5242]
3[Option ID=5243]
4[Option ID=5244]
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If X and ¥ are independent uniform (0, 1) random variables then P((X— ¥ > 0.5) 15

1
1) —
8
1
2) —
2
1
(3) —
4
1
(4) —
6
gfe X dUT Yy Wad THHHE (0. 1) TRfS® Re dad P(X - ¥ > 0.5) 8
1
(1) —
8
1
2) —
2
1
(3) —
4
1
(4) —
6

1[Option ID=5245]
2[Option ID=5246]
3[Option ID=5247]
4[Option ID=5248]
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If X and ¥ are independent exponential random with respective means 10 and 5.
then mean of min (X, ¥) s

(1) 5

(2)




5
2
15
(3) —
2
0

1
(4) —

gfe x dYT Y HI 10 97 5 & U198 Wad IRUMIS! Jrefes® 9 & | 99 min(X,
V) PIATH S -

(1)

4) —

1[Option ID=5249]
2[Option ID=5250]
3[Option ID=5251]
4[Option ID=5252]
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If X; and .X; are independent exponential random variables with means 8, and 6,.
then P(X, = X5) 1s
!
B, +6,
L;'il
B, +6,
1
By +6,
1
1+6; +6,
gl x, TUT X, BT 6, AUl 6,. Higd Wdd o UIdid] glefas® @) & | 6 P(X,
>X) %
BE
6, +6,
L:'il
B, +86,
(3)

(1)

(2)

(3)

(4)

(1)

(2)




L
15:*1+'B2
1

4) & o 5 om
) 1+6; +8,

1[Option ID=5253]
2[Option ID=5254]
3[Option ID=5255]
4[Option ID=5256]
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Let X and ¥ have the joint probability mass function

P(X=x,Y=y)=|

n
| o w

"y

S
b
[l
—
[ ]

Then IY) equals
(1) 1
(2)

(3)

(4)

.[_.II—I- NII—I -2

HETY TYT ¥ T S WS dl So0dH Ha o

P(X=x,Y=y)=|

»
oo a
.

ko | =
S
[l
—t
[ ]

98 1Y) e 8
(1) 1
(2)

(3)

(4)

.[_.II—I- NII—I -2

1[Option ID=5257]
2[Option ID=5258]
3[Option ID=5259]
4[Option ID=5260]
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\x+2y+1 y=—yp —y+1, ...

T2+l oy =—yp, —y+1,..




QBID:12746046
Let Xj. .... X, be iid random variables with continuous distribution function F(x).

Then P(max{X;. X } =t) is given by
(1) F(5)

(2) 1-F'1)

(3) F(i")

w

AFLX,. ... X, Gdd dc- Bad Fx) 9ied i.i.d. TEfS® TR Bl | 99 P(max{X;.
X,} > t) M gRT fegT T & -

(1) F(1)

(2) 1-F1)

(3) F(i")

4) F (ﬂ

1[Option ID=5261]
2[Option ID=5262]
3[Option ID=5263]
4[Option ID=5264]
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Let ¥, and ¥, be 1id continuous random variables with the probability density

function

: (6y(1—y), If 0<y<l
fly)=

0, otherwise

Using Chebyshev's inequality. the lower bound of P“Fl +¥, - 1| < %] 18

2
10
L
10
q

12
2
10

(1)

(2)

(3)

(4)




HIAT v, 91 7, STl 9 e f(y) = |0F(1-¥), T 0<y<l
Lo Afefia

TRediid Tad el R af | IRYT 3 WE@WWWW‘Q’Q
Py + 1, —1|~_~:_‘T| @l FE e |

(1)

(2)

(3)

(4)

=) (N L= = [

1[Option ID=5265]
2[Option ID=5266]
3[Option ID=5267]
4[Option ID=5268]
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fX~U(0.10). Y~ U (0, 20) and X, ¥ are independent then P [X + ¥ <20] is

(1)
(2)
(3)

(4)

0 |WwW = aw ]

gfg X~ U (0.10), ¥~ U (0.20) dYTX, YWdA 6 | GE P [X+ ¥<20] B

1
(1)

(2)
(3)

(4)

= (RIS S PO

1[Option ID=5269]
2[Option ID=5270]
3[Option ID=5271]
4[Option ID=5272]
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QBID:12746049
If the joint probability density function of (¥ Z) 1s given by

¥

1 &
hiv.z)=—e 2,y>0,0<Z<1
] Z ¥y>

then

(1) El¥)==— and E(Z)=

S

(2) E(¥)=2and E(Z)=

b | — I-..lll—-

(3) EIY) =% and E(Z)=2.0

-

(4) E(Y)=2and E(Z)=

I.||l—-

afe (1, z) 1 Egad Wledl U-d - F gR1 fear e

)
h(y,z)=~e¢ 2,5>0,0<Z <]
z

dal

(1) El¥)==d¥l E(Z)=

b =

| = S

(2) E(Y)=2dYlE(zZ)=

3y E(Y) =% qUT E(2) = 2.0

-

(4) E()=2dYl E(Z) =

b | =

1[Option ID=5273]
2[Option ID=5274]
3[Option ID=5275]
4[Option ID=5276]
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Let Xj. X, .... X,,. be a sequence of 11d Bernoulli (1. p). 0 <p < 1 random variables
"
and X, =:—? Y X Then HILm P(X, <plis
i=1

(1)
(2)

1
0
1
(3) —
2
{2

(4)




M1 X, Xo. ..., X, ii.d. SEATC (L p). 0 < p < 1 TP =RI BT TP FTHH ©
T X, =L Y X, 7§ lim P(¥,<p)
=22 %48 o
i=1

(1)
(2)

(3)

Nll—l'::l'—‘

4) P

1[Option ID=5281]
2[Option ID=5282]
3[Option ID=5283]
4[Option ID=5284]
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Consider the bivariate discrete distribution p, . = P [X=x, Y=y] given by p; 3 =
0.2:py 4 =04 -a:p; 3=04:p; 4 =a If Xand ¥ are independent then the value
of 'a' is

4
1) —
15

2
(2) —
15

1
(3) =

5
(4) 0
feeR SRIAd e p, , =P [X=x. Y=)y] o= py 3 =0.2:py 4 =04-aip; 3=
0.4: py 4 =a PIHMC Y 1 AME X TYU YA E T 'a’ DIHM S -

=
15

(1)
(2)

2,

15

1
3 -
5
0

(4)

1[Option ID=5285]
2[Option ID=5286]
3[Option ID=5287]
4[Option ID=5288]
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Given below are two statements :

Statement I : If X and ¥ are uncorrelated then they are independent.

Statement IT : If X and ¥ are independent then they are uncorrelated.

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement I are false

(3) Statement [ 18 true but Statement II 1s false

(4) Statement [ 1s false but Statement II 1s true

CIECIC R EACURI

HYF 1 T X TUT Yy e e dd d Wad & |

PYF 1 TS xTUT yIaad g dd d HTEUe G 6 |

IWRIGd BYH & TdlD 1. 4rd (G0 U fawbedl © O ol 30 &1 99— ifelu ;

(1) FYFIARIIEH Td &

(2) HYT1 AR IS 3T S

(3) HYTITA &, Afp- HUT I T ©
4) FYFIFIC. AT puTnIda e

1[Option ID=5289]
2[Option ID=5290]
3[Option ID=5291]
4[Option ID=5292]
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Let X and ¥ be outcomes on two independent throws of an ordinary six-face die.
The conditional probability of X < 3 given that X+ ¥'< 7 1s

3
1) —
5
5
(2) —
-
2
) M
-
1
(4) —
2

AN XdU YS: Gde dd T S al Wad gdlal & - sl feaie. x+ r=7.x
<3 @ guidey i@ di g |

(1)

(2)

-\-\.JITJ'. La | e

(3)




ko | = =2 |k

(4)

1[Option ID=5293]
2[Option ID=5294]
3[Option ID=5295]
4[Option ID=5296]

Sl. No.79
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Letf(x.3)=2.0<x, y<1,x+1<1. Then the conditional density of X given ¥=
0.5. denoted by f(x | 0.5) 1s

(1) f(x]0.5)=2,0<x<0.5

(2) fix|05=1.0<x<1

3) f(x/05)=1.0<x<0.5

4) fx|05)=2x.0<x<1

A f(x,3)=2,0<x y< 1l x+y<1ddX f(x|0.5) GRI A<y g gufay o7
gleaigr=05s.

1) f(x|0.5)=2,0<x<0.5

(2) fix|05=1.0<x<1

(3) f(x|05)=1.0<x<0.5

(4) fx|05)=2x.0<x<1

1[Option ID=5297]
2[Option ID=5298]
3[Option ID=5299]
4[Option ID=5300]
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x=12,3 s i
Let P(X=x,Y=y)= e """ . The conditional probability that. ¥'=2

12 y=1,2.3,4

given X + V=4 ig

1
1) —
4
1
(2) —
3
1
3) —
8
1
4) —
2




x=1.2,3 .
O p(x=x.v=y)=L. *~"%° wufodywiiedr=28 Rarxy+r<4

12 y=1,2,3,4
g

1
(1) —
_,_I_
1
) —
3
1
@) =
8
1
4 =
2

1[Option ID=5301]
2[Option ID=5302]
3[Option ID=5303]
4[Option ID=5304]
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Let Xj. X5, ..... X, be a random sample of size # from a uniform distribution on the

mnterval (0, 8). Then the uniformly minimum variance unbiased estimator of 6 1s.

n+1 Y

(7]

() |
VoRn

@ it Xy

AFT X X ... X, (0. 6) SCRIA R UHHHH & H 1 HHY BT U Tefwsd
o=l () B | 99 6 1 UPIHE FHad TRRUT SHYAET SHTHad ¢ |

(n+1}
(1) | X
\omq )V
(2) X{l] i ‘Y[rr

1[Option ID=5305]
2[Option ID=5306]
3[Option ID=5307]
4[Option ID=5308]
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Let ;. Y5, ... ¥, 1.1.d. random variables of size n from a distribution with density

function

( 2
20~ : i
—, ifyvza

f':}'. f-f,] =3 1.-3

0. otherwise

Where o> 0 is unknown. If ¥j;) is the i order statistics then the maximum

likelihood estimator of o 1
1

v

f 3

(1)

n
1_[ }i

=1 )

2 Iy

(3) Ty

1
@ 2 log, ¥,
Py |

. :”:* Ryrza
O Y. Vo, . B, UB ST fly.o)=] 3 0 U B G n AT
‘ 0, A

Pl i.i.d. ATEfSD IR BT| STET 0.> 0 3RA§ | TS ¥,y £ 9 SMBST§ | TS o BT
iy JHIAAr STHaD § |

i

H
l_['y."
| i=1 )

2 Iy

I..-Ir—l

h!

(1)

!

(3) Ty

n
4) 2 log, 7,
il

1[Option ID=5309]
2[Option ID=5310]
3[Option ID=5311]
4[Option ID=5312]
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Let ¥ be an observation from a population with density function

02ye ™™ ify>0,6>0

0. otherwise

i i_ o 1sthe o lower quantile. For testing H : 6 =2 against H; : 6 =1, the
most powerful test of size « 15 given by "Reject Hy 1if ¥ = K", where K is given by.
.2
® T
b.J
(2) Eﬁil o
k.2
@ 1120
1.2
4) — X1
5 "':lz i

Y , i~
- _|H':L'-E by yfs y>0,8>0

HHAY, f(y) T
4 | 0. Ffafia

Hcd Do arcll U A8 4 TP Naui gl 1 3fe 2 | o FEEqE |

H;:6=17% (&g Hy: 6 =2 W& & A, o 3TETY DT TEY Yfckamedt /
THIGITRR TR " SRR H, TS ¥ > k. gRIVE 8. el K Fg 4 faan g |

1.2
(1) If—"r ¥

1.2
(2) Eﬁ:l:h‘,

1.2
(3) ]Fi::u

1.2
4) =71
4.'{1:.:.;

1[Option ID=5313]
2[Option ID=5314]
3[Option ID=5315]
4[Option ID=5316]
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Let 73, ¥ e Y, ¥, - 1 be a random sample from a N (6. 1) population. If

"
o 1 l,= r . :
Y = . ZIY ;and T = E[}” +7Y,,,). then for estimating 0




(1) T 1is unbiased and consistent
(2) T 1s unbiased and not consistent
(3) T is biased and consistent

(4) T 1s biased and non consistent

gAY, V. ..o ¥, ¥, - | N (6. 1) GHID ¥ U ATefwse Hidex § | Alg

LSy mur-Ygen,) TeF TR
=i o

(1) 7 3FRET U I ©
(2) T 3T TUT 3R ©
() rfiFdquTga
(4) T 3T qUT 3ETd §

1[Option ID=5317]
2[Option ID=5318]
3[Option ID=5319]
4[Option ID=5320]
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Let fix)=

m—1 =1 i
 ; {(1-x)" ",0<x<1 then the modal value of X, with

B(m.n)’

density function f(x) 1s
m—1

1) ——

m+n—1

m—1

(2)
m+ 1
m—1

(3) —/m
m+n—2

i

(4)
m+n

I —_ H— =
mmf:m:ﬁrm m,.'-:m H1-x)" 0<x <1 q9 97 B £(x) Gfied X &1

HIS (fgean 7 g |

m-—1

1) —
m+n—1

m—1

(2)
m+n

m—1
m+n—2
m

(3)

(4)
m+n




1[Option ID=5325]
2[Option ID=5326]
3[Option ID=5327]
4[Option ID=5328]

Sl. No.86
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Let Xj. X, .... X, be a random sample from N (6, 1) distribution. The lower bound

for the variance of unbiased estimator for 6 1s
)
B a8
(1) —
H

1
(2) —

@ =
ALY, X). ... X, N (6, 1) G- ¥ U Trefwsd UideRl § | 6 & U Ue SHiiHEd
3PP & YR 8 Fa T g

)
(1) o

by

1
(2) —

(4) ﬁ

1[Option ID=5329]
2[Option ID=5330]
3[Option ID=5331]
4[Option ID=5332]
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Let ¥;. ¥5. ... T,,. be a random sample from a population with density function

0-y . .
fti}-',ﬂJ=][e i Bt

0, otherwise
and Y1y =min (¥;. V5. .... 1})). Then the confidence level of the interval

i 2 | ; "
._F“:' - ;]ogg 5.%, ] . for B 1s




(1) 0.96
(2) 0.95
(3) 0.98
(4) 0.91
(S

HE1Y,, V. ... ¥, S CH f(y,0)=1¢ V>0 gl qn I uw
| 0,  afdfie

Orefoss ufdeei g | 9y

EEI}—ﬂliﬂ{I’]-FLH-- }H}E EE I [ L ( I'.lll n] g I'l-l.]
! L ¥ . -..

(1) 0.96
(2) 0.95
(3) 0.98
(4) 0.91
1[Option ID=5333]
2[Option ID=5334]

3[Option ID=5335]
4[Option ID=5336]

Sl. No.88
QBID:12746063

Given below are two statements :

Statement I : The family {N (6. 1): 6= 1. 2} of certain normal distribution is not
complete.

Statement IT : The family {N (6. 1) : 0 <8 < 1} of certain normal distribution is
complete.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

TR ATy E

HYTI : YIEHIY 69 DI GRAR (N (6. 1): 6=1,2} U 5l 3 |

DY IT : YTH 62 ] GRAR (N (6, 1):0<6<1} QU g |

SWRIGd DY D el H, A1 U T fde el § 9 99 Iugad 9o &1 991
DIfoTT :

(1) YT R IEH To! §

(2) HYFI R I EH Tad ©

(3) FYTITEl 8. AfpT PUT I TTOd ©




(4) g 1 TTeTd ©. Wb PU 11 HEl &

1[Option ID=5337]
2[Option ID=5338]
3[Option ID=5339]
4[Option ID=5340]
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Let X;. ..... X}, be 1.1.d. random variable with density function

flx,8)= =T X5 1,08 = 1. The estimator of 8 based on the method of moments
13

1) ——

(2)

(3)

(4)

B+1°

qFlx,. ... X, f(x.0)= ¥>1,0>1 U@ 9ied i.id. e R E |
Wﬁfﬁﬂ?dﬂm&ﬁﬂ%ﬂw%

(1) ;

(2)

(3)

STl
L

(4)

?*:||

1[Option ID=5341]
2[Option ID=5342]
3[Option ID=5343]
4[Option ID=5344]

SI. No.90
QBID:12746065




Grven below are two statements ;

: : | . :
Statement I : If T}, is consistent for 6 then T, + — is also consistent for 6.
n

Statement IT : If T, 1s consistent for 8 then g(T,,) is consistent for g(8), where g(8)

1s a linear function of 8.
In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false
(4) Statement I 1s false but Statement II 1s true

CIEARIC AT
PUA1: R T,. 6 F RUTTTRAT 7, + — WoF Tz |

1
HYFII: TG T, . 6 9 [eTT TITA © O g(T,,), g(6) & U A § | TTGT g(8). 6 I

TS YT Ba g |
SURIFd $UH & TdiF |, i U U [abedi § I 9gl 3 &1 944 Il ;

(1) YR I G 99 o

(2) FHYFI 3R I G T B

(3) PYT1IA B, A PYUT I ST
(4) DY ITTC, AP PUT I T8

1[Option ID=5345]
2[Option ID=5346]
3[Option ID=5347]
4[Option ID=5348]
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Let X;. X5, ..... X. be independent and identically distributed U (0. 6). 6>0
= ] e .
random variables and X = o Z X; . Then
i=1
(1) § is sufficient for 6
(2) min {Xj. ... X,} 1s sufficient for 6
(3) max {i7. ... X, } 1s sufficient for 8

(4) 2 1s sufficient for 8

ALY, X, ... X, S00F 94T HA9H &f¢d U (0. 6), 6> 0 5P o g | 3R
.
Xx=-—-V x

”.-'gl e

(1)




7.0® U waic g
(2) min {X. ... X,}. 0 % U Ua@ g
(3) max {X;...X,}. 0 UULGg
@ 27.0 % RUTOEs

1[Option ID=5349]
2[Option ID=5350]
3[Option ID=5351]
4[Option ID=5352]
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Let the random variable X have Binomual distribution with parameters 3 and 6. A

test of hypothesis Hy:6 =:§, against B 1. rejects Hy if X' < 1. The test has
4

]

q
(1) Size = — . Power = &7
32 32
; 3 20
(2) Size = — ., Power= —
32 32
. .] 2
(3) Size = — . Power = —‘“:il
64 64
(4) Size = L Power = 41
32 32

A1 grefese 9= X, UIEd 3 9UT o Tied fGus g § U Ri&m gideaH
Hy: =% faes Hl:Eb:%.HﬂmuﬁXfl | G140 & [T -

i.'.

) =2 e 2L
32 32
3 20

(2) HHUG= —. e
32 32
q

(3) HHU = “—.QTE%&E
Hd 64
1

(4) HHU= — = ﬂ
ke it 32

1[Option ID=5353]
2[Option ID=5354]
3[Option ID=5355]
4[Option ID=5356]
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Let X have density function f and distribution function F. If f1s symmetric about
10, F (7)= 0.3 then P (10 < X < 13) is

(1) 0.2




(2) 0.3
(3) 0.1
4) 0.4

1 X &1 9@ HaH £ JUl S e Fe | 3fe £, 10 $ Saie HHd §. F (7)
=038 TEP(10<X<13)%

(1) 0.2

(2) 0.3

(3) 0.1

4) 0.4

1[Option ID=5357]

2[Option ID=5358]

3[Option ID=5359]
4[Option ID=5360]
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£ JIEI ifo<x<l
(X)= 3
0t ] 0  otherwise
Let ,
[F aE0= X1

- ~|, 0 otherwise

£ (x)

and Hy: flx)=fy(x).Hy: f{x) = f(x) : If the size of the most powerful test is .
then power of the test is

(1) «
(2) ¢?
1
(3) {:[1}2
1=
(4)
f:ﬂ:llx qEo0<x<1
= 07" 1o afafred
flf--r.l='|.l g 0<x <1
lo i

QU Hy: f(x) = fo(x), Hy 2 £(x) = £ (x) TfS TE FUTA TL1&001 BT 349 o 8 99
wteror 1 WIfeRT (&raT) © -
(1) «

(2) o2

(-

@ (a)2




4) 1—-d
2

1[Option ID=5361]
2[Option ID=5362]
3[Option ID=5363]
4[Option ID=5364]

Sl. No.95
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Let X have the mass function pg(x).8=1.2andx=1. 2. 3. 4.

e . . 1 :
The critical region of the most powerful test of size —. to test H; : 8 = 1 against

Hj : 8 =2 based on single observation 1s !
) {1}
2 {2}
3) {3}
4) {4}

T X T Go0HH A py(x). 6=1,2TTx=1,2,3.48

X 1 2 3 4
e 1 1 1 1
PWE L7 1%
D, (%) 1l 5 3 2
24 11 11 11 11

TS V&0 R MURAH, - 6 =2 F [T Hﬂ:e=1qﬁ&mﬁﬁ$m%
ST 9T a9 YNGRl 8 ¢ -

(1 {1}
(2) {2}
(3) {3}
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2[Option ID=5370]
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Let

HD:P[X=x|=irx=]_.2,.....:1[l
10
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The critical region for the most powerful test of size 0.2 1s
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(2) {10}
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(4) {9.10}
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The degrees of freedom for the error in 22 factorial experiment with r replications
15

(1) 3(r—1)

(2) 3r-1

(3) 3r

(4) 4r—-1
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4) 4r—1

1[Option ID=5377]
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Consider a sample of size n drawn from a population of size N under. Simple
random sampling without replacement. Then the probability that a specified unit 15
not included in the sample 15
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i
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()N
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2[Option ID=5382]
3[Option ID=5383]
4[Option ID=5384]
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In a completely randomized design with ¢ treatments and » experimental units,
error degrees of freedom is equal to

1) n—1-—1¢




(2) n—(t—1)
(3) t—n
(4) n—t
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3[Option ID=5387]
4[Option ID=5388]
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The method of confounding 1s a device to reduce the size of
(1) blocks

(2) replications

(3) experiments

(4) experimental units
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2[Option ID=5390]
3[Option ID=5391]
4[Option ID=5392]




